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the reasoning above? The author’ sargument is logically flawed in
that it... The source of the man’ serroneous reasoning is his... The
reasoning in the argument is most vulnerable to the criticism that it...
0000000 Which one of the following is most similar in logic
to the argument above? Which one of the following exhibits the same
logical flaw as that exhibited above? Which one of the following
could be best supported by the same type of reasoning as that
exhibited in the passage? Which one of the following contains the
error of reasoning described by the author in the passage? Which one
of the following most closely parallels the flawed pattern of reasoning
in the author’ sreply? 0 O O O O O Inwhich one of the following
situations is the principle expressed most clearly violated? [ [ [0 [
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